12”0508 (K12n0508)

s 7 \\ 3\ Linearized knot diagam
ALY O SRR
1211£ /361272911531289
k//‘l/\—\l\,

\ Solving Sequence

10,
S~ 3

A knot diagrarrﬂ

2a6ﬁ3594’74’104’1*’54’4*’8"12*11%637677010
C2 Ce Co C1 Cs Cy4 cg Ci2 C11

Ideals for irreducible component#ﬂ)f Xpar

It = (—11u™ 4+ 3u™ + - + 360+ 14, —u'* +3u'® - 4120 - 8,
ut® 4+ 2u' — 20 — 5ut? 4wt 4+ 9ul0 + uf + u® 4 307 — 4ub + 5u® + 21wt 4 1603 + 40 — 2)
I = (—7Tu®* + 2u® + - 4+ 320 + 140, —47u? — 117u** + - -~ + 368a + 2737, u?® + 2u® + ... — 46u — 23)
(u? —u? +2b, —u® 4+ 2a +u, u* —u? +2)
= (4b* — 4b — 32u + 33, 2bu —2b —u + 1, 2a+ 1, u* — 2u + 1)
=(-u+u?+2b—u+1, v +u?+2a—u+1, u* +1)
IY ={(—a*+b—2a, a®>+2a* +a+1, u—1)
IY=(ba—a’+a+1, u—1)
Ig=0b—-—a—-1,u—1)

I'={(a, > —b—1,v—1)
I3 ={(a, b+1, v—-1)

* 8 irreducible components of dim¢ = 0, with total 59 representations.
* 2 irreducible components of dim¢ = 1

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (—11u" + 3u'® 4 ..

2ult + .o 4 4u? — 2)
(i) Arc colorings
1
ag = O
0
as = \u
1
a3: u2
(}121114 Tul® + +§u+§7>
= (1714 _ 113
9 U T 1gu T gu— g
1,12 _ 3,10 1 1
ar = EUM Luld 4. -—|—%u—|—%
Byt dtt g 2
a10: %ulﬁl 12u12+._._ éu_g
—u? 41
a; = *U4
u
as = \u
1,14 13
(G )
ayq = §u _~_..._7u+1
—0. 388889u —0.416667u'? + -
ag = — Lyl Ly1s 7%u+%
Lys 1 4+ Lud 41
a1y = %u14—%u12+~--—3u—%
%u14+%u13+ £u+3
arr = \ "Lyt 4 Ty 4 ~2
(ii) Obstruction class = —1
(iii) Cusp Shapes —%ul‘l Sutd — 1524 ul? + 1%%4 ul +10u'° —
2007 _ 148,56 158,483 8,2 2
27U T Rr U T o7 T3W T TR

—0.277778u + 1.22222

-+36b+ 14, —u'? 4+ 3ul3 4 ...

)

+12a — 8, u'® +

26,9 _ 206, 8
U - ru+



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 u® +8utt .+ 16u+4
C2,Cs5,Ct u15_2u14+__._4u2+2
C11
€3, C12 2(2u'® — 6ur* 4 - — 9u + 3)
¢4, Ce 2(2u'® + 20 4+ 27u + 3)
c8 3(3u'® —18uM -+ 1lu +7)
Co 3(3ul® +18uM - —1Tu +7)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c1o Yyt + 32y + ... 4800y — 16
€2,C5,Cr Yy — 8yt . 416y — 4
C11
Cs, €12 4(4y" — 104y™ + -+ - 4249y — 9)
€4, Co 4(4y" 4 56y + -+ T1Ty — 9)
e 9(9y"® — 24y™* + - - + 555y — 49)
Co 9(9y*® — 168y + --- — 229y — 49)




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.144120 + 1.0545601
= —1.219520 + 0.2512031
= —0.305685 — 0.5176471

—5.10750 + 3.195531

—5.98942 — 2.069711

= 0.144120 — 1.0545601
= —1.219520 — 0.2512031
= —0.305685 + 0.5176471

—5.10750 — 3.195531

—5.98942 4- 2.069711

= —0.928567 + 0.6240961
= —0.420023 + 0.3188501
= 0.348565 + 0.9668581

2.54442 + 5.044771

—0.58192 — 5.697111

= —0.928567 — 0.6240961
= —0.420023 — 0.3188501
= 0.348565 — 0.9668581

2.54442 — 5.044771

—0.58192 4 5.697111

1.007800 + 0.7477531
0.553989 + 0.6606831
= 0.448740 + 1.0745901

—0.77508 — 5.739771

—11.31279 +- 5.821441

1.007800 — 0.7477531
= 0.553989 — 0.6606831
= 0.448740 — 1.0745901

—0.77508 + 5.739771

—11.31279 — 5.821441

= —1.203300 + 0.4030951
—0.438882 — 1.1157201
= —0.88076 — 2.142201

—4.79918 + 9.009061

—10.02265 — 8.139651

—1.203300 — 0.4030951
—0.438882 4 1.1157201
—0.88076 + 2.142201

—4.79918 — 9.009061

—10.02265 +- 8.139651

—0.189655 + 0.562206.1
1.23134 + 1.076251
0.232219 — 0.1183141

1.46040 — 1.170551

1.25283 + 2.211071

—0.189655 — 0.5622061
= 1.23134 — 1.076251
= 0.232219 + 0.1183141

> Q& €|l & €|l & €| Q& €| 2 €| Q@ &l Q& €|l & €|l & €| & &
I

1.46040 + 1.170551

1.25283 — 2.211071




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.346970 + 0.4125111
0.057661 + 0.9768301
—0.68130 4 1.789131

—14.7969 + 6.79281

—12.44195 — 4.016411

= —1.346970 — 0.4125111
= 0.057661 — 0.9768301

U
a
b
U
a
b= —0.68130 — 1.789131

—14.7969 — 6.79281

—12.44195 4 4.016411

u= 132413 4 0.56114]
0.09611 — 1.507361
0.69422 — 2.439401

—12.5822 — 14.85361

—10.17186 4 7.596271

S|l
Il

1.32413 — 0.561141
0.09611 + 1.507361
b= 0.69422 + 2.439401

—12.5822 4 14.85361

—10.17186 — 7.596271

u= 0.384887
a= 0.278645
b= —0.711991

—0.975030

—11.4640




IL. 1Y = (—7u?* + 2u?® + ... 4 32b + 140, —47u?® — 117u?* + ... + 368a +
2737, u?6 4+ 2u?% + ... — 46u — 23)

(i) Arc colorings

- )

o= ()
1
a3 == u
0.127717u® + 0.317935u* + - - - — 4.13587u — 7.43750
ag = Su?t — Ly 4 %u -3
0.535326u2° + 0.726902u2* + - - - — 11.5476u — 17.8125
a7 = \0.375000u2° + 0.531250u2* + - - - — 6.71875u — 12.3125
—0.122283u?® + 0.0366848u2* + - - - + 2.39538u — 1.62500
—0.187500u2> — 0.0625000u* + - - - + 3.59375u + 0.656250
—u2 + 1
ay =
u
a5 == u
—0.157609u2% — 0.252717u2* + - - - + 0.442935u + 8.18750
a4 = éu% 3 w4 .. +%u+%
0.377717u + 0. 474185u24 + .- —8.38587u — 11.0313
ag = | 0.250000u25 + 0.375000u2% + - - - — 4.96875u — 7.96875
0.347826u2° + 0.539402u* + - - - — 7.51630u — 11.5938
a1y = 0.156250u25 + 0. 34375Ou24 +.--—3.59375u — 8

0.663043u2°% + 0.951087u* + - - - — 13.5272u — 21.9375
ajp = Zu 4 2yt - 130y 8L

(ii) Obstruction class = —1

(iii) Cusp Shapes = —3u? — 24?1 4 ... 4 1Ty 4 5T



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 u?® + 16625 + - - - 4 874u + 529
C2,Cs,C7 U26_2u25+"'+46u—23
C11
c3,Cl1a 2(2u? — 4u* 4 - - + 5854u + 13513)
4, Co 2(2u%® + 1205 + - .- — 2212u — 4061)
s (u® 4+ 2u'? - = 3u+1)?
Cy

(u® —2u'? - 4 9u 4 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 y?® — 1297 + ... — 3545358y + 279841
C2,Cs5,C7 y26 _16y25+_874y+529
C11

C3,C12 4(4y%0 — 232975 ... +2.78070 x 10%y + 1.82601 x 10®)

€4, Co 4(4y5 + 88y 4 - +9.27579 x 107y + 1.64917 x 107)
Cs (yl.?) _2y12+.+17y_1>2
09 (yl.?) _ 18y12 + - + 65y _ 1)2




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

u = 0.145808 + 0.9831561
a= 147860 — 0.040321
b= 0.285975 4 0.5393031

—10.07100 — 1.929611

—9.33197 + 0.980701

u = 0.145808 — 0.9831561
a= 1.47860 + 0.040321
b= 0.285975 — 0.5393031

—10.07100 + 1.929611

—9.33197 — 0.980701

u = —0.694794 4 0.6694891

a= 0.747191 4 0.0702951 3.24368 1.97600 + 0.1
b = —0.044639 — 0.6926951
u = —0.694794 — 0.6694891
a= 0.747191 — 0.0702951 3.24368 1.97600 + 0.1
b = —0.044639 + 0.6926951
u= 0.727228 + 0.7658861
a = —0.656960 — 0.5216461 0.0875120 —10.12424 4- 0.1
b = —0.485985 — 0.7017091
u= 0.727228 — 0.7658861
a = —0.656960 + 0.521646.1 0.0875120 —10.12424 4+ 0.1

b = —0.485985 4 0.7017091

u = 0.089788 4 1.0623301
a= 1.239930 — 0.5034801
b= 0.331705 + 0.5109141

—8.73749 + 9.070901

—7.83282 — 5.023651

u = 0.089788 — 1.0623301
a= 1.239930 4 0.5034801
b= 10.331705 — 0.5109141

—8.73749 — 9.070901

—7.83282 4 5.023651

u= 1.071990 + 0.3299761
a = 1.056560 + 0.3938631
b= 1.60771+0.711331

—4.67191 + 1.369421

—12.56235 — 3.096981

uw= 1.071990 — 0.3299761
a= 1.056560 — 0.3938631
b= 1.60771 —0.711331

—4.67191 — 1.369421

—12.56235 4 3.096981

10



Solutions to I¥ V—=1(vol + /=1CS) Cusp shape
u= 1.14128
a = —0.980723 —2.29729 —0.573860
b= —1.64813

u = —1.166120 + 0.2560351
a = —0.63202 — 1.515741
b= —0.93587 — 2.030261

—4.67191 + 1.369421

—12.56235 — 3.096981

u = —1.166120 — 0.2560351
a = —0.63202 4 1.515741
b= —0.93587 + 2.030261

—4.67191 — 1.369421

—12.56235 + 3.096981

u = —1.148780 + 0.3764381
a= 0.276926 + 1.1886001
b= 0.77110 + 1.969801

—1.36409 + 4.886781

—5.58540 — 5.917321

u = —1.148780 — 0.3764381

a= 0.276926 — 1.1886001

—1.36409 — 4.886781

—5.58540 + 5.917321

b= 0.77110 — 1.969801

u = —0.722662

a = —2.98213 —2.29729 —0.573860
b= —-1.92811

u = —0.048328 4 0.7090541
a = —1.16615 — 1.246941
b= —0.0850094 — 0.10524301

—1.36409 — 4.886781

—5.58540 + 5.917321

u = —0.048328 — 0.7090541
a = —1.16615 4 1.246941
b = —0.0850094 + 0.10524301

—1.36409 + 4.886781

—5.58540 — 5.917321

u= 1277190+ 0.5794991
a = —0.27185 — 1.435111
b= 0.07667 — 2.388941

—13.50590 — 3.700971

—11.32642 + 2.50956.1

u= 1277190 — 0.5794991
a = —0.27185 + 1.435111
b= 0.07667 + 2.388941

—13.50590 + 3.700971

—11.32642 — 2.509561

11



Solutions to I3

V=1(vol + y=1C)

Cusp shape

1.31273 + 0.583861
0.040670 + 1.3899001
—0.44938 + 2.273451

—8.73749 — 9.070901

—7.83282 + 5.023651

1.31273 — 0.583861
0.040670 — 1.3899001
—0.44938 — 2.273451

—8.73749 + 9.070901

—7.83282 — 5.023651

—1.38277 + 0.409501

= —0.082363 — 0.7966161

0.62637 — 1.373581

—10.07100 4 1.929611

—9.33197 — 0.980701

—1.38277 — 0.409501
—0.082363 + 0.796616.1
0.62637 + 1.373581

—10.07100 — 1.929611

—9.33197 + 0.980701

—1.39325 + 0.445821
—0.049113 + 0.7007791

= —0.91053 4 1.154561

—13.50590 — 3.700971

—11.32642 + 2.509561

—1.39325 — 0.445821
—0.049113 — 0.7007791
—0.91053 — 1.154561

—13.50590 +- 3.700971

—11.32642 — 2.509561
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I IY = (u® — u® 4+ 2b, —u® 4 2a + u, u* — u? 4+ 2)

(i) Arc colorings

= (o)

0
a6: u
1
as = U2
(4d
aqg = 7;3 12
9 u” +3u
%u:‘—%uz—%u—i—l
ar = %u3—|—1
(%uzéu 1
atn = 1,3 1,2
10 2'U, 2'LL
—u?+1
ap = \ —u?42
Uu
a5: u
(0 s
as= \ 3,3 1,241, "1
4 U U+ qu— 3
1,2 _ 3y
1% 1%
ag = \ _1 1,2 _
8 U —|—2u U
—u2—%u+1
a0 = —1U2+2

—tud 4 u? — tu+1
ail =

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u? — 8

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C10 (u2 —u+2)2
C2,Cs5,C7 U4—u2+2
C11
c3,Cl1a 2(2u* 4 2u® + 5u® + 4u + 1)
4, Cg 2(2u* — 2u® + 5u? — 4u + 1)
4
cg, C9 (u + 1)

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 (y* + 3y +4)°
C2,Cs5,Ct (y2_y+2)2
C11
€3, ¢4, Co 4(4y* +16y° + 13y* — 6y + 1)
C12
€8, Cy (y—1)*

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.978318 + 0.6760971
—0.239159 + 0.3233891 0.82247 — 5.33349I | —6.00000 + 5.291501
0.452616 — 0.1546831

0.978318 — 0.6760971
—0.239159 — 0.323389I | 0.82247 + 5.33349] | —6.00000 — 5.291507
0.452616 + 0.1546831

—0.978318 + 0.6760971
0.739159 — 0.9994861 | 0.82247 + 5.333491 | —6.00000 — 5.291507
0.04738 — 1.477561

—0.978318 — 0.6760971
0.739159 + 0.9994861 0.82247 — 5.33349I | —6.00000 + 5.291501
0.04738 + 1.477561

> & €|l & 8| & 8|l & &
Il

16



IV. I} = (4b®> — 4b — 32u + 33, 2bu —2b—u+1, 2a+ 1, u? — 2u + 1)

(i) Arc colorings

= (o)

ag —
az =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 (u_ 1)3
€10
€3 512(2u + 1)*
C4 512(2u — 1)*
C5,C8,C9 (u + 1)3
C11
Co 64(2u — 1)3
c12 64(2u + 1)3

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5
C7,Cg,Cq (y_ 1)3
€10, C11
C3,Ca 262144 (4y — 1)*
C65 C12 4096(4y — 1)3

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

1.00000
= —0.500000 —3.28987 —12.0000
= 0.500000

= 1.00000

= 0.500000

= 1.00000
= —0.500000 —3.28987 —12.0000
= 0.500000

U
a
b
U
a = —0.500000 —3.28987 —12.0000
b
U
a
b

20



(—uP4+u?2+2b—u+1, v +u?2+2a—u+1, ut+1)

V. 1
(i) Arc colorings

/ / A/
, , |
= \'1/:2 3 S 3 _ .
1,21,u2 s 1,21,u2 3 ey S 3
++1,2 ++ +1++\|1/1,2_
™ =+ S o a + S
S+ Sy Sos Sey o PN
| + R
- | - e + + ® o @ | 3 4+ o il
3 0 3o — 3 3o, o T Ty
e 1N 1,21,2 S A "0 1,21,2 3 e
, SEN _ SEEIN [ e |

21
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(ii) Obstruction class =1
(iii) Cusp Shapes



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, 10 (u® +1)?
C2,Cs5,C7 U4 + 1
C11
€3,C4, 6 2(2ut + 4u® + 6u® + 4u + 1)
C12
Cg, C9 (u — 1)4

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
4
€1, €10 (y+1)
C2,Cs5,C7 (y2+1)2
C11
€3, ¢4, Co 4(4y* + 8y +8y® —dy + 1)
C12
€8, Cy (y—1)*

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape
0.707107 + 0.7071071
0.207107 — 0.5000007 | 1.64493 —4.00000

= —0.500000 + 0.2071071

= 0.707107 — 0.7071071
= 0.207107 4+ 0.5000001 1.64493 —4.00000
= —0.500000 — 0.2071071

= —0.707107 + 0.7071071
= —1.207110 + 0.5000001 1.64493 —4.00000
= —0.500000 + 1.2071101

= —0.707107 — 0.7071071
= —1.207110 — 0.5000001 1.64493 —4.00000
= —0.500000 — 1.2071101

24



VL I¥ =(—a?+b—2a, a®*+2a®>+a+1, u—1)

(i) Arc colorings

= (o)

ag —

az =
a
a9 = \a?+ 2a
CL2
a7 = —a
—a?
a
0

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1)3
C1,C2,C5 (u + )
C3,C4q, C
3,C4,C8 W —u—1
C9
6 u =2l +u—1
3
€7, €10, C11 u
3 2
C12 u’ +2u"+u+1

26



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C5 (y_l)
C3,Cy4,C8 y3_2y2+y_1
cy
Cg,C12 y3—2y2—3y—1
€7, €10, C11 y3

27



(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol +/—1CS) Cusp shape
u = 1.00000
a = —0.122561 + 0.7448621 | —1.64493 —6.00000
b= —0.78492 4+ 1.307141
u = 1.00000
a = —0.122561 — 0.7448621 | —1.64493 —6.00000
b= —0.78492 — 1.307141
u = 1.00000
a = —1.75488 —1.64493 —6.00000
b= —0.430160

28



VIL. I = (ba—a®*+a+1, u—1)

(i) Arc colorings

= (o)

ag —
az =
ag =

a7 =

(ii) Obstruction class =1
(iii) Cusp Shapes = —12

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.

29



(iv) Complex Volumes and Cusp Shapes

Solution to I¥ | v/—1(vol + +/—1CS) Cusp shape
u = e e .
a=--- —3.28987 —12.0000
h=-..

30



VIIL I =(b—a—1, u—1)

(i) Arc colorings

= (o)

ag —
az =
ag =

a7 =

a*+a?+1
a® 4+ 2a® +2a+2

(ii) Obstruction class =1
(iii) Cusp Shapes = —12

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.

31



(iv) Complex Volumes and Cusp Shapes

Solution to I¥ | v/—1(vol ++/—1CS) Cusp shape
u = e e .
a=--- —3.28987 —12.0000
h=-..

32



IX. I} =(a, b —b—1, v—1)

(i) Arc colorings

= (o)

ag —
az =

ag =

—-b
ag = b
1

a1z = \ —p2

—b+1
ann = \-b*+b

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

33



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,¢2,C5 u?
€3 w2 +u+1
¢4 ud =2l +u—1
C, C8, C
6,C8 C9 W—u—1
C12
1)3
€7,€10, C11 (u+1)

34



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 yg
€3,C4 y?—2" =3y —1
Cg, Cg, Cg y372y2+y71
C12
3
¢7,C10,C11 (y—1)

35



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape

v 1.00000
a= 0 —1.64493 —6.00000
b= —0.662359 + 0.5622801
v = 1.00000
a= 0 —1.64493 —6.00000
b= —0.662359 — 0.5622801

v = 1.00000

= 0 —1.64493 —6.00000
b= 1.32472
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X.Il={(a, b+1,v—1
2

(i) Arc colorings

= (o)

ag —
az =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C5 "
€7, €10, C11
C3,C4,Ce u+1
C12
Cg, C9 u—1

38



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,C5 Yy
C7,C10,C11
C3,C4,Ce y— 1
g, Cg, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1Y v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a= 0 0 0
b = —1.00000
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XI. u-Polynomials

Crossings u-Polynomials at each crossing
1. c10 ut(u— 1) (u+ 1) (u® +1)*(u? — u+2)%(u'® + 8u* + -+ + 16u + 4)
(w0 + 16U + - - - + 874u + 529)
co, ¢ ut(u—1)3(u+ 13w + 1) (u? —u? +2)(u'® — 20 + - — 40* + 2)
(u® = 20 + - 4 46u — 23)
o 8192(u 4+ 1)(2u + 1) (u® —u — 1) (u® + 2u* +u + 1)
(2u* + 2u® + 5% 4 4u + 1)(2ut + 4ud + 6u® + du + 1)
S(2u® —6utt + - — 9u + 3)(2u2® — 4u®S + - .- + 5854w + 13513)
8192(u +1)(2u — 1)*(u® —u — 1)(u® — 2u* +u — 1
Cq
S(2ut — 203 + 5u? — du + 1)(2u* + 4ud + 60 + du + 1)
S(2u!® 2ut 4 270+ 3) (20 + 1205 + - - — 22120 — 4061)
cs, 11 u4(u+ 1) (u + 1)(u — 2 +2)(u'® - 2u Mo g2 +2)
(u® = 20 - 4 46u — 23)
6 1024(u + 1)(2u — 1)*(u® —u — 1) (u® — 2u® + u — 1)
(2u* — 2u® + 5u? — du + 1)(2u* + 4u® + 6u® + du + 1)
S(2u® 4 20 4 - 4 27w+ 3)(2u?C + 12075 + - - — 22120 — 4061)
s 3(u—15%u+1)"(u® —u— 12w+ 2u'? + - = 3u+1)?
S(But® —18uM 4+ 1lu+ 7)
co 3(u—15%u+1)"(u® —u— 12w —2u'? + -+ 9u+ 1)?
C(But® + 18uM - — 1Tu+ T)
1024(u + 1)(2u + 1) (u® — u — 1) (u® + 2u® + u + 1)
C12
(2ut 4 2u® + 5u® + du + 1) (2u* + 40P + 6u + du+ 1)
S(2u® —6utt + - — 9u + 3)(2u® — 4uS + -+ - + 5854u + 13513)
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XII. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢1o v (y —1)%(y + 1)y + 3y + 4)*(y"° + 329" + - + 800y — 16)
(y*° — 12y*° 4 - - - — 3545358y + 279841)
C2,Cs,C7 y4(y _ 1)6(y2 + 1)2(]/2 —y 4 2)2(y15 _ 8y14 4ot 16y _ 4)
cit (y*® — 16y*° + - - - — 874y + 529)
67108864(y — 1)(dy — 1)*(y° — 2y — 3y = 1)(y° — 2y° +y — 1)
C
’ (4t + 8y + 8y% — Ay + 1) (4y* + 163 + 13y* — 6y + 1)
- (4y™® — 104y™ + - + 249y — 9)
- (490 — 232y + - - - + 278070166y + 182601169)
67108864(y — 1)(dy — 1)*(y° — 2y — 3y = 1)(y° — 2y° +y - 1)
C.
! (4t + 8y + 8y% — 4y + 1) (4y* + 163 + 13y* — 6y + 1)
(4y"® 4+ 56y + -+ 71Ty — 9)
- (4y®° + 88y®® + - - + 92757862y + 16491721)
1048576(y — 1)(4y — 1)°(y° — 2y° =3y — 1)(y* — 29> +y - 1)
&
‘ 4yt + 8y + 8y% — 4y + 1) (4y* + 1693 + 13y* — 6y + 1)
(Y™ 56y + -+ T1Ty — 9)
- (4y®® + 88y™ + -+ + 92757862y + 16491721)
Cs 9y — D2 — 202 +y — 12 (y" — 292 + - 4 17y — 1)?
-(9y™® — 24y™ + -+ + 555y — 49)
co 9y — 1) (y% — 2% +y — 12 (y" — 18y + - + 65y — 1)?
- (9y"® — 168yM + -+ - — 229y — 49)
1048576(y — 1)(4y — 1)°(y° — 2y° = 3y = 1)(y* — 24> +y — 1)
C12

(4" + 8y® + 8y — 4y + 1)(dy* + 16y + 135> — 6y + 1)
< (4y"® — 104y™ + - 4+ 249y — 9)
- (490 — 232y + - - - + 278070166y + 182601169)
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